

$$r^2n + r^2m + r^2b = r^2n^2 - r^2nc + an - ac$$

$$a - rc \leq 1r \quad ac \leq rb$$

$$n^2 + 4n + b = (n-r)^2 + n^2 - r(m+c)^2$$

$$a+b+c \leq a+9-r \quad (1r)$$

Subject.

$$n^2 - mn + n = k(rn^2 - rn - 0) \quad (2)$$

$$n^2 - mn + n = k + rn^2 - rn - 0$$

$$k = \frac{1}{r} \quad m = \frac{1}{r} \quad n = \frac{1}{r}$$

$$\left(\frac{1}{r} \times \frac{1}{r}\right) - \left(-\frac{1}{r} \times \frac{1}{r}\right) = \frac{1}{r^2}$$

$$\frac{an+r}{an+r} = \frac{k(n-b)}{\frac{1}{r}n - \frac{1}{r}b} \rightarrow n = \frac{1}{r} \quad b = -\frac{1}{r}$$

$$\frac{-r^2v}{\varepsilon}$$

$$\frac{bn+r}{an+b} \rightarrow \frac{bn+r}{an+b} = \frac{an+b}{an+b} \quad n = -\frac{b}{a} > a$$

$$\frac{bn+r}{an+b} = \frac{an+b}{an+b} \rightarrow \frac{bn+r}{an+b} = \frac{an+b}{an+b}$$

$$\frac{ab}{c} = \frac{1}{r}x - \varepsilon \quad \frac{1}{r}x - \varepsilon = -\frac{1}{r}x + \frac{1}{r} = -\frac{1}{r}$$

$$\frac{ab}{c} \in \left\{ \frac{1}{r}, -\frac{1}{r} \right\}$$

$$\frac{rg}{f+g} = \left\{ (r, 1)(r, 1)(-1, 1) \right\}$$

$$\left\{ (r, 1)(r, 1)(-1, 1) \right\}$$

$$\left\{ (-1, 1)(r, 1)(r, 1) \right\}$$

$$\frac{ra - rb + 1}{a - rb \leq c} \quad (A)$$

$$\frac{ra - rb + 1}{a - rb \leq c} \Rightarrow \begin{cases} a + rb \leq -r \\ -r - rb \leq rc \end{cases}$$

$$r \leq rc - r \quad rc \leq 1$$

$$d \leq a \leq 1 \quad (9)$$

$$f(a) \leq b = \sqrt{-a^2 + a - m}$$

$$\Delta \leq (-1)^r - f(m) \leq 1 - f(m) \geq 0 \rightarrow m \leq \frac{1}{\varepsilon}$$

$$\Delta \leq 0 \quad 1 - f(m) \leq 0 \quad m \leq \frac{1}{\varepsilon}$$

$$a+b = \frac{1}{r} \text{ to } \frac{1}{r}$$

ESPADANA

$$f\left(\frac{1}{r}\right) \leq \sqrt{\left(\frac{1}{r}\right)^2 + \frac{1}{r} - \frac{1}{\varepsilon}}$$

$$\sqrt{-\frac{1}{\varepsilon} + \frac{1}{r} - \frac{1}{r}} \leq 0$$

Subject.

(1) برگه